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Ql.
Choose the correct option
carry equal marks

for following questions. the Questions are )l;',"9

1 VoLTE Stands for iri.-":::'Fi---=:i-:li"
.";:l'-..t1: .,...lt't.

Option A: Voice ovcr Long Terrrr Evolutiorr
Option B: Voice Over LocaI Teleconrmunication Equipryent
Option C: Video Over Long Tenn Evolution
Option D: Volume Over Long Term Evolution '

'rl" F+t

2. UTRAN stands for "l

Option A: Universal Transrnission Radio I.letworks
Option B: Universal Terrestrial Radio Access Neiwork
Ootion C: Unitled Trarisrlissicn Area Netrvork
Cption D: Univcrsal Time R.aciio Acct--ss Neir.vork

J. \Vhich of the foilorving Stores the to GSM Mobile
Systems?

Option A: VLR
Option B: HMR
Option C: GMR
Option D: SiM

4.

Option A: GRE t.

Option B:. IP Tunneling
Option C: lqtocol Synchroni zation
Option D: Ir{inimal Encapsul ation

Two or more antennas can also be combined to Improove the receptlon tly counte.acti.rg tfie
negative effects olr:rulti path propagation, these antennas are also terrled aq

Option A: multi elcmcnt antcrrnu Arru\
Opticn B:
Option C: Sectored antenna
Option D: Isotropic Radiator

'- 
t5.,., What is an Access Point

Option A: An entitv that orovides ?tccess to LLC la.rer
Option B: An entity that provirics acccss to MAC layer
Option C: An cntity that providcs access to the Destination Systerr
Option D: An entitl,tftat proy cles acccss to Basic Service Set
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7. A Mobile Phone Uses _Type of Communication l**E
.r:'-: I ,.:! .; -..1... ..r,,..'i. i:'l'

OptionA: Full Duplex 1 j'. .{
Ootion B: Half Duplex
Option C: Both A and B \
Option D: None of the Above

8. There is a nced lbr ceftain to avoid the {?eqirency Overlapping'in FDIvl.

OptionA: Guard Space

0ption B: Frequency Range -ll ..1.. , ' '. 1:. :."i" .\'".\. \,' .)ri : :I
\ 

r' ' ' j

Optioir C: Carrier
Option D: Attenuatcr ;i';.'."i:' l.) ., l!

.; r.l ',
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9.

Option A: Less Tra,rsm
Ootion B: Only Local Interface
Option C: Need of Handcver -.'"

Option D:
:=. -":'

10. IN TCP/P_ _is a congestion
quickly t.eco\Icr icst lJata Packets

Control algoritllll that rlakes it pos--ible to

Cption A: &$ fetrrnsmit anU fas _
Option B: Fast Retransrnit i 

,

Option C: FaStReCO-.zefy . -,i1),..,.::.:..:t..-,.i'.j,.,i.';""-: j*,1'--:. r-i' :. r.r.r, ,r,.-r. .- l

Option D:

Solve a Trvo 10 nrarks each

Network
I '.i: ..'S .-ir. ..:,.
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Solveanv Two .1 . .'.t - -'" 1'..i. r')i ,.t.*
' : .: ,.- .. I .: .h'-

--. . b)::'...',.':r Explain CSM Architecture in Dctail.
Explainsigna1Propagationindetailwithvariouseftbctssuchasffi
Rell'action, scatter: multipath propag.ltion

Sol.,,e any Trvo :, .:,-).,
.-i l:\-r l!s .{\ 10 marks each

-' .1rl: ,,i, ,;,,,1j)

.'. 1'' ., :l',
WriteabliefdescriptiononVariousGenc,.atio,-'s
various applications of mobile devices lbr Vehicles. Eilergency situation, Business,
Entcrtainrnent-

.,s r - ' li)
'.t.t l: ': ,".

\\,-rite a Sholt Note on
g)t4\\4lr b) Hl.{IPv6

"\'hrt 
arc the r;ariotrs wireless LAN Thrcats an,J I lo\\/ iye can secure the rn ireless

Nctri'orks
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